PersistenceTrend

schema: transformationTypes.xsd

keywords: | transformation, trend, persistencetrend

Description and Usage

This transformation "predicts” how the timeseries would continue based on the trend of the existing data. It can be configured how long of a window should
be taken into consideration for the trend.

Input/Output time series
This function takes one input time series and produces one or two output time series.
® <inputTimeSeries>: An equidistant scalar time series
® <outputTimeSeries>:An equidistant scalar time series (longer than the original series). Has to have at least one overlapping existing time stap
with inputTimeSeries. This will contain the forecast values only, observation values are not copied.
® <outputHistoricTimeSeries>::An equidistant scalar time series. Optional. It has to have the same time steps as the input time series. It uses the
same window to create the trend as outputTimeSeries, and creates one forecast point (same time window into the future. Then it shifts the time

window for the data trend one time step back in time, and creates another forecast, which it exactly one time step sooner than the previous one. It
loops though all the input values like this, creating a series of forecasts.

Configuration

Define 2 time series as variables to be used as input and output.

<availableObservedValues>

Required element defining how many non-missing values need to be present in the time window (from which the trend is calculated.)
<consecutiveObservedValues>

Required element defining the non-missing values in the time window (from which the trend is calculated) need to be consecutive. If set to false the series
of values present are allowed to be broken up by missing values.

<window>

Required element defining the time period in the input time series from which the trend will be calculated. The window is calculated from the last observed
value time and not from TO.

Example


http://fews.wldelft.nl/schemas/version1.0/transformationModule.xsd

<?xm version="1.0" encodi ng="UTF-8"?>
<transformati onMbdul e versi on="1.0" xm ns: xsi="http://ww.w3. org/ 2001/ XM_Schena- i nst ance" xm ns="http://ww.
wl del ft.nl/fews"
xsi : schemaLocation="http://ww. W del ft.nl/fews http://fews.w del ft.nl
/ schemas/ versi onl. 0/ transf or mati onMbdul e. xsd" >
<l--2 variables (with any nane) need to be configured to be used as inputs and output.-->
<vari abl e>
<vari abl el d>i nput </ vari abl el d>
<ti meSeriesSet >
<nmodul el nst ancel d>I nport _Tel enet ry</ nodul el nst ancel d>
<val ueType>scal ar </ val ueType>
<par anet er | d>H. obs</ par anet er| d>
<l ocationl d>712170</ | ocati onl d>
<timeSeri esType>external historical </timeSeriesType>
<tinmeStep unit="mnute" multiplier="15"/>
<rel ativeViewPeriod unit="hour" start="-2" end="6" startOverrul abl e="fal se"
endOverrul abl e="true"/>
<readWiteMde>read only</readWiteMde>
</tinmeSeriesSet>
</vari abl e>
<vari abl e>
<vari abl el d>out put </ vari abl el d>
<ti meSeriesSet >
<nmodul el nst ancel d>NewRat eOf Ri se</ nodul el nst ancel d>
<val ueType>scal ar </ val ueType>
<par anet er | d>H. f or ecast </ par anet er | d>
<qual i fierld>RoR</qualifierld>
<l ocationl d>712170</ | ocati onl d>
<tineSeriesType>si nul ated forecasting</tineSeri esType>
<timeStep unit="mnute" multiplier="15"/>
<rel ativeVi ewPeriod unit="hour" start="-2" end="6" startOverrul abl e="fal se"
endOverrul abl e="true"/>
<readWiteMde>add ori gi nal s</readWiteMde>
<expiryTime unit="hour" multiplier="6"/>
</tineSeriesSet >
</vari abl e>
<vari abl e>
<vari abl el d>hi st ori cQut put </ vari abl el d>
<ti meSeriesSet >
<nmodul el nst ancel d>NewRat e Ri seHi st or y</ nodul el nst ancel d>
<val ueType>scal ar </ val ueType>
<par anet er| d>H. f or ecast </ par anet er | d>
<qual i fierld>RoR</qualifierld>
<l ocationl d>712170</ | ocati onl d>
<tineSeriesType>si nul ated forecasting</tineSeri esType>
<timeStep unit="mnute" multiplier="15"/>
<rel ativeVi ewPeriod unit="hour" start="-2" end="6" startOverrul abl e="fal se"
endOverrul abl e="true"/>
<readWiteMde>add ori gi nal s</readWiteMde>
<expiryTime unit="hour" multiplier="6"/>
</tineSeriesSet >
</vari abl e>
<transformati on i d="PersistenceTrendFunction">
<interpol ationSerial >
<persi st enceTr end>
<i nput Ti neSeri es>
<vari abl el d>i nput </ vari abl el d>
</ i nput Ti meSeri es>
<out put Ti neSeri es>
<vari abl el d>out put </ vari abl el d>
</ out put Ti neSeri es>
<out put Hi stori cTi neSeri es>
<vari abl el dhi st ori cQut put </ vari abl el d>
</ out put Hi stori cTi meSeri es>
<avai | abl eGbser vedVal ues>2</ avai | abl eCbser vedVal ues>
<consecut i veObser vedVal ues>f al se</ consecut i veCbser vedVal ues>
<wi ndow unit="m nute" nultiplier="60"/>
</ persi stenceTrend>
</interpol ati onSeri al >
</transformati on>
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